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JAYPEE UNIVERSITY OF INFORMATION TECHNOLOGY, WAKNAGHAT
TEST -1 EXAMINATION- Oct 2017

B.Tech Vth Semester
COURSE CODE: 15B11BI511 MAX. MARKS:15
COURSE NAME: Structural Bioinformatics
COURSE CREDITS: 4 MAX. TIME: Siig Hr
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Q1. Differentiate between primary, secondary, tertiary, and quaternary pro;%n strucfg,lr S. 2 Marks
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Q2. Imagine as a crystallographer you have to convey the list of res%yp@ thz%eﬁnement program used,
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and stereochemistry of your protein. Which REMARK secti ﬁall ;%Mﬁe‘? 3 Marks
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Q3 Explain the statement “Difficulties in obtaining %t@ i@ds ? fo propose general principles from
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observed cases”, from the point of view of prote f@ld e*i’f@,lunon 2 Marks
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Q4. List the two proteins that are called a5 "” livi ng Tossils”, 2 Marks
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Q5. Sometimes SCOP and CATHQ‘} )/ge/””d&l %@r ements to what is a domain. Why do you think there are
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Q6. Name some of /fﬁe Nigti structural alignment software/tools. While a complete match between
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two structul‘e,,s ai/‘”efldeal why do different algorithms give different structural alignments? 2 Marks
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